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Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is Authentic
Q1 (@) @) Enlist the requirement of good formwork.
(i)  Enlist the factors affecting the quality of construction.
(b) () Enlist and explain concepts of TQM in brief.
(i)  State main principles of TQM
Q.2
(@ @) Explain TQM elements with help of neat diagram.
(ii)  Draw the sketch of the building blocks of TQM model.
(b) () Classify various types of errors and explain mistakes in brief.
OR
(b) Following observations were booked during the chain survey:
Ch(m) |0 25 |50 |75 100 | 125 | 150 | 175 |200
Offset [9.10 | 11.5 [ 12.4 | 10.7 | 11.0 | 12.2 | 10.6 | 9.90 | 10.3
0 0 0 5 5 0 5
Calculate the area by using simpson’s rule
Q.3
(a) Explain in brief various types of errors in hypothesis testing.
(b) Write short note on one tailed test and two tailed test of hypothesis
OR
Q.3 (a) Explain in brief with help of neat sketches (i) Power function of a test (ii)
Operating characteristics curve (OC curve)
(b) Write short note on estimation.
Q.4
(a) State and explain the limitations of tests of significance in brief.
(b) Enlist main steps to achieve good quality of structure.
OR
Q.4 (a) Narrate the various methods of statistical quality control and explain any one in
short.
(b) Define the following terms (any seven)
(i) Sample size (i1) Sampling fraction (iii) Universe (iv) Least count
(v) Precision (vi) Accuracy (vii) Unit  (viii) Population
Q.5
(a) Differentiate (any one pair)
(1) 100% inspection and sampling inspection
(il)  Inspection by attributes and inspection by variables.
(b) State important points covered by NBC
OR
Q.5 (a) Mean and range of 9 groups each of them containing 5 items are as under:
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Gro |1 2 3 4 5 6 7 8 9
up
Mea | 90 86 |84 |78 80 85 88 |92 89
n
Ran |5 7 6 8 4 9 6 8 5
ge
Take n=5, A, =0.54

Draw x (x-bar) chart for above data.
Explain about 9000 series of standards.
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